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corr_Adet_bpm4eY (ppb) 1D pull distribution
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1D pull distribution

-0.02256 + 0.1411

Mean

1.046 + 0.09974

Std Dev

Underflow

Overflow

3.889/7

X2/ ndf

11.9£20
-0.0137 + 0.1350
0.9241+ 0.0983

Constant
Mean
Sigma

12

0III|III

60.21 /54 hH

X2 / ndf

+1454

—282.9

pO

pm1X (ppb)

corr_Adet b

4000

sooopf | o 0 0y




pm1X RMS (ppm)

corr_Adet b

N

_______
0 O
o
N I3

(wdd) sy

v'oLvy
€9y
9Ly
T9Lvy
0'9Lvy
4°7A474
€alvy
[A7A44
T'SLvy
0'GLvY
v'vivy
evivy
[AZA474
TvLivy
ovivy
[A7A44
TEeLvy
[(R7A474
celvy
Telvy
[V 7A474
€TLvy
CTLvy
TTLvy
0'TLvYy
[AVA44
TOoLvy
0'0Lvy
V'69ry
€691y
2691y
169y
0’691y
7’89y
€891y
289y
T'89ry
0891y
L9y
[A°i474
T L9y
0'L9vy
0'0SvYy
Ty
0Ty
S'ovvy
vovvy
eovvy
oy
Tovvy
o'orvy
€'6Ery
¢'6EVY
T'6EVvYy
0'6EVY



o ® o o P N
SR N T -
= 2 % D 5 S
o S H] w5 S
aS ° & 5 1 ]
3 B a g 8
~ e @ 0 ]
8 p= 3 o —
S = i
> m H - € -
o £ o <] s © —
c H] S 3 T = 2 § £ E
g g 5
o s B 5 S %« 8 2 & =
= =
>
o)
= ]
— 1| .
2 Le——— —
ho) -
= 1 ]
>
o
o m
— m
=
o e o by v by b by by by | IR AR
o [ee] © < N o oo} © < N o
N — - - i -
I
< W0
O N
- <
< N
S
32
N~
|
G—
©
c
~
<2
|
QO
[oR
o
N
>
i
€ —
[oX
o]
ol
(&)
2
r_
= ———
o
© ——
——
———
——
______T_IT_.Ol_lTT___________________
o o o o o o o o
S S S S =] S S
& ¥ « § 5 ¢ @




pmlY RMS (ppm)

corr_Adet b

_________
o o
© e}

(wdd) sny

o
<



corr_Adet_bpm16X (ppb) 1D pull distribution
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1D pull distribution
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1D pull distribution
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1D pull distribution
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1D pull distribution
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pm11X RMS (ppm)
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1D pull distribution

pm8Y (ppb)
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pm4eX RMS (ppm)
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corr_usl b

___________________ _________________m

[WHN
N O W O LW O !mw o w
< S ®m® ® o « «H «

(wdd) sny

v'oLvy
€9y
9Ly
T9Lvy
0'9Lvy
4°7A474
€alvy
[A7A44
T'SLvy
0'GLvY
v'vivy
evivy
[AZA474
TvLivy
ovivy
[A7A44
TEeLvy
[(R7A474
celvy
Telvy
[V 7A474
€TLvy
CTLvy
TTLvy
0'TLvYy
[AVA44
TOoLvy
0'0Lvy
V'69ry
€691y
2691y
169y
0’691y
7’89y
€891y
289y
T'89ry
0891y
L9y
[A°i474
T L9y
0'L9vy
0'0SvYy
Ty
0Ty
S'ovvy
vovvy
eovvy
oy
Tovvy
o'orvy
€'6Ery
¢'6EVY
T'6EVvYy
0'6EVY



1D pull distribution
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pmlY RMS (ppm)
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corr_usl_bpm16X (ppb) 1D pull distribution
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1D pull distribution
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corr_usl_bpm11X (ppb) 1D pull distribution
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pm16Y RMS (ppm)
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corr_usr_bpm11X (ppb) 1D pull distribution
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